51.

52.

53.

54.

85.

CHEMISTRY

is polyatomic molecule.

A) Calcium
B) Oxygen
C) Sulphur

D) Barium

Freundlich isotherm is a plot of log x/m

Vs it gives a straight line.
A) log P B) logK
C) 711' D) log C
In Ostwald’s process is
used as catalyst.
A) Ni B) Pt
C) Fe D) V,0Oq

Colloidal particles are charged can be
demonstrated using

A) Brownian movement

B) Tyndall effect

C) Electrophoresis

D) Dialysis

Bredig's arc method involves
A) Oxidation

B) Reduction

C) Condensation

D) Evaporation

LI ERERIE]

51. - T TEIATY 37 R
A) Hicqam
B) 3madlsH
C) ¥
D) afem

52. Hfed amgate log x/m 3R *
9 T o | 9 Hith tan <an g1

A) log P B) log K

1
i
) n

D) log C

53. iReaice yisanrH, I Y

ifd g Ban 81
A) Ni
C) Fe

B) Pt
D) V,Ox

54. TGS FT AARCE, T8 1
YT e Vefita ferar ST gehar g
A) el nifa
B) fiea wwa

C) dgasuriaeH
D) 3miE

55, sfen o fafy & TaT 8l

A) 3TEE
B) 1q=eA
C) 95

D) arsdteRe
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57.

58.

59.

60.

61.

is a low spin compiex.

A) Ni(CN),J% B) [Co Fgl*~
C) [NiCl )% D) [Fe Fgl*

Oxidation state of manganese in

Mn (CO)5 is
A) +5 B) +1
C) +6 D)O

Number of donating atoms present in
EDTA

A) 6 B) 5
C) 2 D) 4

Colour of V4* ion is
A) Green

B) Violet

C) Pink

D) Blue

Catalyst used in Hydrogenation
A) V5,04 B) Fe
C) Ni D) Pd

Due to lanthanoid contraction
elements exhibit similar radii.

A) Zn & Hg
B) Zr & Hf
C) Zr&Y

D) Ag & Cd
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56. G e =3h0T e B
A) Ni (CN) %~ B) [Co F¢J*-
C) [Ni Cl )% D) [Fe Fgl*

57. Mn (CO) & Fritsr it 3o feufa @
A) +5 B) +1

C) +6 D) O

58. EDTA d 3uftya grsal qwamoati &1
qer @
A) 6 B) 5
C) 2 D) 4

59. V4 A H T8
A) '
B) &t

C) Tt
D) fem

60. BTSSR § WY S
A) V,0¢ B) Fe
C) Ni D) Pd

61. TUAATTE T o BRI el §9TH
Frsr ewia )

A) Zn 3R Hg
B) Zr 3R Hf
C) ZraRyY
D) Ag 3k Cd
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62. R—-X+A—->RBNC+B;A&Bare
A) AgCN and AgX
B) AgNC and AgX
C) KCN and KX
D) NaCN and NaX

Cl

63. @NaOH ol sy — s
300 atm

yis

A) Aniline
B) Aldehyde
C) Ketone
D) Phenol

64. Phenol is converted in to benzene in
presence of

A) anhy.AlCl,
B) Na,Cr,0,
C) Zn
D) Cu

65. RCN + Sn012 + HCI _._'hL, RCHO.
Name of the reaction is

A) Stephen reaction
B) Etard reaction
C) Kolbe’s reaction

D) Gattermann—Koch reaction

62. R—X+A>RNC+B; A3l BE
A) AgCN 3R AgX
B) AgNC 3t AgX
C) KCN 3iix KX

D) NaCN 3R NaX

Cl

63. @« NaOH —23K_, ,_Hol , ..
300 atm

y 8
A) et
B) Teeierss
C) #RH
D) frmsw

64. @ wiaeAd RN wufefad
ufafda o sman 2

A) == AICH,
B) Na,Cr,0,
C) Zn
D) Cu

65. RCN + SnCl, + HCl 0", RCHO,
Frfrfsran = A R
A) 6 ffshan
B) erg arfufsran
C) e AR
D) frexd-snia rfifsrar
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67.

68.

69.

70.

Reagent used in carbylamine reaction
A) CHCI; + KBr
B) CHCI; + KOH
C) NaNO, + HCI
D) KOH + |,

Reducing sugar is
A) Sucrose

B) Celluiose

C) Maltose

D) Starch

Six membered cyclic structure of
glucose is called

A) Furanose
B) Pyranose
C) Galactose
D) Amylose

amino acid is aromatic in
nature.

A) Lysine

B) Serine

C) Tyrosine
D) Giutamine

Deficiency of Vitamin—Bg causes
disease.

A) Night Blindness
B) Beri-beri

C) Convuisions
D) Scurvy

66. shTeTgEeTHTE atfifar ¥ wgw sAfEs 8
A) CHCI; + KBr
B) CHCl; + KOH
C) NaNO, + HCI

D) KOH + 1,

68. TephIS i ©: et wfh g
Heard g

A) RS
B) WIgHN
C) e
D) RIESIE

69. anfit ant weefa o QAT R
A) wERA '
B) i
C) Zud
D) MR

70. By wfid______ Mmemidl
A) Tfx siua
B) -l
C) T
D) &efl
4JEECE

gcollegeduniaa

T



B
71. Electrolyte used in Ni-Cd cell
A) KOH
B) H,SO,
C) LIOH
D) Al,O,

72. For certain reaction, the values of A &
Eain Arrhenius equation are 4x10135-1
& 98.6 kJ/mol. If the reaction is 15t
order, at what temperature will its half-
life period be 10 minutes ?

A) 325.60 K
B) 311.35 K
C) 300 K

D) 510.05 K

73.  Two solutions of NaCl and CH,COOH
are prepared separately. The molarity
of both is 0.1 m and osmotic pressure
P, & P, respectively. The correct
relationship between osmotic pressure
Is

A) P, =P,
B) P, > P,
C) P> P
D) Py #P,

71. Ni-Cd 3= & v fga-smaeg @
A) KOH

B) H,SO,

C) LiOH

D) Al,O4
72. 3o hifwaret & i, shifae gftem
% A ST Ea & "9 4x10138-1 aftx

98.6 kJ/mol &1 afe st yem wn A &
fora Ao W yweht and anrg 10 e avft 7

A) 325.60 K
B) 311.35 K
C) 300 K

D) 510.05 K

73. NaCl 3t CH;COOH % 2 faera arerm-
TEHT ST S §1 QR Rt T AT 0.1m ¥
3R ST 3T A Py 39K P, ¥) e
T % i w6 Hou @

A) P, =P,
B) P,>P,
C) P, > P,

D) Py =P,
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74.

75.

76.

77.

78.

Ethylene glycol + A —— Decron, A
is

A) Terepthalic acid

B) Hexamethylene diamine

C) e — Caprolactam

D) Melamine

Tranquilizer among the following
A) Seldane

B) Veronal

C) Paracetamol

D) Iproniazid

[Co (NH5)5 SO4]Brand [Co (NH3)5 Br]
SO, are

A) Linkage isomers

B) Coordination isomers
C) lonisation isomers
D) Optical isomers

4HNO, + P4O4o — 4HPO5 + X, X'is
A) N;Og
B) N,O,
C) N,O
D) N,O5

Oxidation state of phosphorous in
orthophosphoric acid is

A) +5

B) +4

C) +3

D) +2

74. wﬁ@qwﬁa+A-—>é§ft’q,A§
A) uFfere T

B) RaTiraTsei S
C) e- FuicHaem
D) frwmga

75. Fr=faRaa # & wenas @
A) desT
B) aqd
C) TRt
D) TENATERE

76. [Co (NHg)s SO4IBr 3R [Co (NHy)5 Brl
SO, &
A) G anrEgEt
B) g~ qATEdE
C) et aHTagd!
D) g% GHEgs

77. 4HNO,+ POy — 4HPO5 + X, X @
A) N,O,
B) N,O,
C) N,O
D) N,Os

78. ATEIERING o7 | BIohRE i 7=
ferfa ®

A) +5
B) +4
C) +3
D) +2
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79. For 2 N;Og — 4 NO, + O,, rate and
rate constants are 2x10~2 and 4x10~4

respectively. Then the concentration of
N,Oj; at that time will be

A) 0.5x10™4
B) 0.5x10™3
C) 2
D) 5

80. Faster a chemical reaction, smaller is
the

A) rate constant

B) concentration of reactant
C) half life

D) energy

81. Inthe preparation of Grignard reagent,
the medium used is

A) Alcoholic
B) Aqueous
C) Ether
D) Acid

82. Benzene can be converted to toluene
by

A) Wurtz reaction

B) Fittig reaction

C) Wurtz-Fittig reaction
D) Friedel-Craft reaction

79. 2 N,05 — 4 NO, + O, ¥ faig, gt sl
@ A 2x10 334 x104 81 3w
74 N, O, I |igar gt

A) 0.5x1074
B) 0.5x1073
C) 2

D) S

80. ariifsran ot a1 B, AT
BIT BT

A) & Faams
B) 3ifSresent i Gigar

C) iy
D) St

81. firrg srfries a1 TWa g ATeAd §
A) IcHIEAE
B) Siiig
C) 3

D) 3

82, i i fegdy FRURTECITE

F 8l
A) gés1 arfufsen

B) ffe arfirfsmn
C) geaI-fhfem safvfzman
D) fhge-swre stfifdmn
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83. Acetic acid is distilled with P,O, a 83. tfafes aprw &1 P ,0¢ T& WiFawet
strong dehydrating agent to get freidtmT arfysd & a1y smafia +t
A) CO, and CO ST 3 8
B) Alcohol A FEARRCO
B) 37eehied
C) Alkane C) sk
D) Acetic anhydride D) tifes wegeEs
84. Aniline is used in the manufacture of 84, wiehT &1 w4 Sdt ittt
drug like I | giar 21
A) Aspirin - A) TEE
B) Cinnamic acid B) fmfies av
C) Acetanilide C) wRefemse
D) Salicylic acid D) afcramsfaves s
85. does notundergo Hoffmann'’s 85. BIRA it FuATEs iR T
bromamide reaction. T
A) Benzamide A) SSITTES
B) Propanamide B) WiUHmES
C) Acetamide C) tRremrss
D) Formamide D) wirnTse
86. Hinsberg's reagent is 86. féaent =1 atfiredes &
A) SO,CI + HCI A) SO,CI + HCI
B) CgHsSO,CI B) CgHsSO0,Cl
C) CHCIl; + KOH C) CHCl; + KOH
D) Hg,Cl, + HCI D) Hg,Cl, + HCI
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% In the coagulation of a negative sol.
the flocculating power is in the order
A) A3+ > Ba?t > Na*
B) AR* < Ba?* < Na*
C) Ba?* < Nat* < AI?*
D) Na* > Al** > Ba?*

88. Van Arkel method is used for removing
oxygen and nitrogen present as
impurities from metals like

A) Cr B) Fe
C) Ni D) Ti

89. Formula of Zincite is
A) ZnS
C) ZnCl,

B) ZnCO,4
D) ZnO

80. Percentage of carbon in pig lron is
A) 1 B) 2
C) 4 D) 3

91. Which of the following reaction in blast
furnace is endothermic ?
A) 2C +0, —— 2C0O
B) CaCO; —— CaO + CO,
C) C+0, — CO,
D) C+ CO, — 2CO0O

92. 4HCl + O, —— 2Cl, + 2H,0.
Catalyst used in this reaction is

A) V,0¢ B) MnO,
C) CuCl, D) P,05

i
il

3

‘ﬁ'ri

87. Wk HUTCHS G & hed §, FHuiT wifed

% 50 1 Bt Bl
A) AP+ > Ba2* > Na*
B) A+ < Ba?* < Na*
C) Ba2* < Na* < AP+

D) Na* > AR+ > Ba®*

=

88. 9 3eha faty A grga
¥ Ayl & w9 # IufRm e 3R
TIE2ISH ) g2 o foTg yge e 81

A) Cr B) Fe

C) Ni D) Ti

89, Rage s g’
A) ZnS

C) ZnCl,

B) ZnCO;,
D) ZnO

00. F=a @ie ¥ e 1 i {
A) 1 B) 2

C) 4 D) 3

91. area w2t A Fmfaifaa § A wiv-dt stifsrn
FSTEYE @ ?
A) 26405 — -3 2C0
B) CaCO; ——» CaO +CO,
C) C+0; — €O,
D) C +CO, —> 2CO

92. 4HCI + O, — 2Cl, + 2H,0 T

ariifsran # v SO 2!
A) V,0s B) MnO,
C) CuCl, D) P,O,

4JEECE

gcollegeduniaa

T



5
93. Crystal system of CuS0,.5H,0 is
A) Triclinic
B) Triagonal
C) Cubic
D) Tetragonal

94. Molal depression constant =
RXM, x T, 2

1000 x A,5,H

RXM, x T;2

10‘0’0 x ﬁfH
RXM, x T,?

1000 x A 5H

A)

B)

C)

RXM, x T,
1000 x AH

D)

g5. In a cubic lattice each edge length of

the unit cell is 408.6 pm and density
of the unit cell is 10.5x10% kgm™3, At
weight 107. The crystal lattice is

A) FCC
B) BCC
C) CCP
D) Primitive

96. Octahedral complex among the
following

A) Ni (CO),
B) [PICl,J%
C) [Fe (CN)gl*
D) [Co (NHg)gl®*
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93. CuS0,.5H,0 i fest yorrefl @
A) B
B) freivfia
C) w+m
D) Sgshivi

94. Hiei 3w fFrars

A) RXM, x T,
1000 x z&wH

RXM, x T
1000 x AH
RXM, x T,
1000 x A,,,H

B)

C)

RXM, x T
1000 x AH

95. T UHig IE A IHTE BN i TR
R it SaTs 408.6 pm 3 T B
1 99 10.5 x103 fFmm -3, 9’ 107 B
fireea weT §
A) FCC
B) BCC
C) CCP

D) yRft

D)

96. Frefeiaa # & Teweha 4= 8
A) Ni (CO),
B) [PtCl 2
C) [Fe (CN)gl*

D) [Co (NH)gl*
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97. Acetaldehyde and Benzaldehyde can
be distinguished by
A) Tollen’s test
B) Fehling's test
C) Schiff's test

D) Oxidation

98. Ethanal undergoes a reaction in the
presence of alkali to give 3-hydroxy
butanal. The reaction is

A) Aldol condensation
B) Claisen condensation
C) Cannizzaro reaction

D) Benzoin condensation

99. The compound does not undergo
Cannizzaro's reaction

A) Acetaldehyde
B) Benzaldehyde
C) Formaldehyde

D) Trimethyl acetaldehyde

(@)
100. H—g)-NHg —-%'-:’;a X X; X is
A) Amine
B) Aidehyde
C) Alcohol

97. Rrafters indvafedsd_____&0
afar foman s wehan 2
A) i g
B) Wefem wiewr
C) whie wligm

D) IT=RA

98. 3T HR (ofewell) # Iufeufa # @&
sfufrar =& 3-TrEeiad! sgeAe a1 8l
e &

A) Teeiet HoH
B) Feier HeH
C) Hem il
D) sSiigA da=H
99. ae Ak < Fiem arfiifsran 7€ Ftan
A) Tfewtsers
B) sSvwifsaris
C) FHAISEIRS
D) gréfremde uReefeess

0

100. H-%-NHZ—”:E—r X X X3
A) FHH
B) TIIEIS
C) fehigd

D) Cyanide D) WIEATES |
o P Page No. 24 WJEECE

gcollegedunias

T



